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Directions : Answer the following questions by

(2)
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R : Retorfea soat % aor 33 % Fr afiaas

selecting the ¢orrect/most appropriate option. e fawey gfie
1. Dysgraphiaisa: 1. feanfir:
(1) Speech disorder characterized by (1) e o faer @ fraehr forwar samerrn
stuttering and errors in articulation it ¥ il
- SaReT § et
(2) Locomotor disorder characterized by nfagsa far foaehr % l faerSar T
gross motor impairment. 2 T 9 2 %
(3) Neurological disorder characterized by " uefrE ST R )
trouble in forming letters and shapes. 3 TH dfrh fasr € formeht fsyar &)
(4) Psychological disorder characterized: by 7 ITHI I T T HiSTS
lack . of attention and impulsive R il H 8
behaviour. (4) U HATH forenr @ foreeht fvwar e
@ The‘a approach to educating gifted children It 3ﬁ'{ ik
:nh::::l a]ﬁm:;s .ttlilem tlr.lrc;;lgh curriculum at an|2.  JIOWEH s=at H farfera s T 3UTTH ST 3%
- :
Y PTG o 15 keiGn gy W &9 Y i wfe & yreg=at & qrew &
*(1) Differentiated instruction gqﬁm% T FEATAT S ?
(2) Enrichment (1) ﬁﬁﬁa’ ﬁ%ﬂ:" “ .
(3) Acceleration (2)  Hadg
(4) Immersion ‘
(3) T (Tidag)
3.  Teachers who are working towards inclusive (4)  fomsi
classrooms : 3. Fre S el A R i sm R §
(i) Create curriculum adaptations E%HT%Q [EX-E
(i) Incorporate diverse perspectives (i) UTSHEAT I STTHeT L -
Em) Isixam.ine t.heir own implicit bias (ii) ﬁﬁaqﬁg&ﬁuﬁ ;lr?nﬁaai »
1v)_ ee diversity as an obstacle . (i) AN =T F mﬁ%aqgfgg‘r‘cﬁﬁaqﬁ
Which of the above are correct ? v) RfeuasitsanFsrd g
) @), G, (i), (v) STH H A RH-Y T E 2
2
22 (), Gi), Gid) (L) @), (i), (i), Gv)
(3) (), (i), (iv) ]
(4) (i), (ii), (iv) (4) (i), (iid), (iv)
_ SIRTATERET H GHTSROT 26t T
4. While agencies of socjalisation are % > TewEq ¥, SfE S
predominantly  important in infanil;: o S * %’
. agencies of socialization also | FHTSHRor it e m o W
become important in early childhood. B ST S |
(1) tertiary; secondary ! / (1) qares; ATeataeh
(2} primary; secondary (2) E;Tm; wreA Tt
(3) secondary; primary (3) wTEAfHe; MUt
(4) secondary; tertiary (4) WA .
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According to Lev VYSOtsky )
(1) Social factorsg infl
u
development, - e:(f: langt‘u?ge
development, cognitive
(2) Cognitive ‘developme ol
language development_ = facilitates

(3 Language development
development ady
each other., ¥

. and cognitive
ance independent from
(4) Language development

o facilitates
cognitive development.

At which level of Lawrence Kohlberg’s moral

reasoning, do children typically believe that
people should live up to the expectations of the
society and behave in “good” ways ?

(1) Post-operational level

(2) Pre-conventional level

(3) Conventional level

(4) Pre-operational level

Read the following statements and choose the
correct option :

Assertion (A) :

Interaction with more knowledgeable others,
such as teachers and peers, can provide t};e
necessary support and guidance 'to helg
learners develop their understanding an
skills,

Reason (R) :

Social interaction is a key comP
learning and development.

(1) Both (A) and (R) are false.

is the
(2) Both (A) and (R) are true and (R) is t
correct explanation of (A).

(3) Both (A) and (R) arfa true(,A)
the correct explanation of (A

(4) (A) is true, but (R) is false: !

onent of

(8)

but (R) is 710¢ '
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(4)

What is the main goal of ‘assessment for
learning’ ?

(1) To identify students who
categorised as ‘slow learners’

can be

(2) To ‘evaluate student performance and
assign grades

(3) To provide feedback to students that can
be used to improve their learning

(4) To compare student performance to a
standard or benchmark

At which age can children engage in word play
and like jokes and riddles that involve a play
on words ?

(1) Twelve years
(2) One year

(3) Three years
(4) Seven years

Carol Gilligan has eritiqued Kohlberg’s theory
of moral development :

(1)
(2)
(3)

from a social cognitive perspective.
from a feminist perspective.

for not giving adequate importance to
genetic factors.

(4) for using case study as the research
method.

One of the main characteristics of

pre-operational thought ordmg to Jean

Piaget is _i h refers to the
tendency to focus on @ne aspect of a situation
and neglect others.

(1)
(P
(3)
4

Causation
Centration
Decentration

Transduction

11,

8.

10.
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g, In early childhood, growth

(6)

~——— and thinking

is - while in middle childhood, growth
" e and thinking ig

o) ?;gc:.l somewhat egocentric; is steady,

is steady,
logical

is steady, logical; slows, egocentric
slows, logical; is steady, egocentric

@

somewhat egocentric; slows,

3
4)

Which of the following is a gross motor skil] ?

(1) Knitting b

(2) Swimming .

(3) Cutting along the outline of a circle on a
paper

Cutting along the outline of a big
rectangle on a paper

4)

Physical growth and development follow the
AT principles of
development.

(1) integration (simple to  complex);
differentiation (complex to simple)
cephalocaudal (top-down); proximodistal
(inner to outer)

proximodistal (top-down); cephalocaudal
(inner to outer)

differentiation (simple' to
integration (complex to simple)

(2)
3)

complex);

4)

Accm'diﬂg to Howard Gardner, a philosopher

has type of intelligence and a
sculptor has more type of
intelligence.

@ linguistic; interpersonal

(2)
3)

8patial; intrapersonal

intrapersonal; spatial

(4) interpersonal; linguistic

12.

134

14.

15'
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(3)

4)
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(6)

Experiential learning stresses on :

(1) control of teacher on the learning of

children.
the role of reinforcement in learning.
importance of critical reflection.

(2)
3)
(4). learning as a product rather than a

process.

Which of the following is an effective method

to enhance problem-solving skills in children ?

(1) Discouraging independent thinking and
focusing on declarative knowledge

(2) Encouraging them to avoid difficult
problems

(3) Providing them
solutions to problems

with  ready-made

(4). Giving them opportunities to brainstorm
and make intuitive guesses

Read the following statements and choose the
correct option :

Assertion (A) :

Teachers should create a meaningful
environment which seeks active participation
and engagement of all children.

Reason (R) :

All children are intrinsically motivated to
learn and are capable of learning,

(1) Both (A) and (R) are false.

(2.) Both (A) and (R) are true and (R) is the
" correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is not

the correct explanation of (A).

(4) (A) is true, but (R) is false.

Which of  the following process
does not contribute to the course of learning ?

(1)
(2) Categorization

Organization

(3) Conceptualization

16.

17.

18.

19.

4) Decont.éxtualization

FwaTes Jfenm fre T e AT g 2
(1) weut & aftrmr ut R ¥ frdsor
(2) e H [l it sffira o

(8) SATAYEHTeH Ffefafad & wee W

4)
Y H 3@ T
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HiST aHET § s & forg 3% Siedntea
HAT .
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STFEL ST

Wﬁﬁl’q:

W(A)

TRTereht ht |Tefeh ATATET ST STfew fored ot
=l ht AT qriert 3 Gerar e |

SR (R) :

ool s=0 3tiafer w9 § e ¥ e I aa &
T i gem & |

(1) (A) IR (R) AT Tera & |

@ (A) AR (R) 3T T & q9T (R), (A) FT T
TR |

(A) 3T (R) AT T E, T (R), (A) R
wet T 7l g
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(2)

(3)
4)
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(4)
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T R % ST T ) U 3TE §
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(7)

Which of the following jg 45 example of a

question that requires studentg to refl
ppocion it s ect on

(1) What is the relationship between —

and verbs in a sentence ?

(2)
3

What is the definition of a verk

How do you change a verh to the present
tense ?

(4) How has your thinking about the use of

verbs changed since the beginning of the
class ?

Which of the following is an example of an
internal attribution for failure ?

(1) T received a low grade because the
teacher is a tough grader.

(2) I failed the test because I didn’t study
enough.

(3) I didn’t get good marks because the
teacher was biased.

(4) 1 failed the test because?x‘ny friends were
distracting me.

Read the following statements and choose the
correct option :

Assertion (A) :
At a very early age, girls in most cultur.es
across the world choose dolls as toys while

boys prefer to play with cars.

Reason (R) : .
Children organize information about what 18
y or a girl on

considered appropriate for a bo :
the basis of what a particular culture expects

and behave accordingly.
(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(A) is true, but (R) is false.

(3)

(4)

21.

22.
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20. Fffed & & #¥F-a1 v ¥ v 1 e

forat Rrenfefat & sy grg w R FQ 6
ATTEHAT Bt & 2

(1) o E o B A wr a2 0
2 TR afamr T d 2

(3) ;m%mﬁaﬁnnmﬁ%&mm
92

a1 o e & it e 3 e
JTYhT T HY TGt 2 ?

fefaiad § @ S-a1 freaar & fag i

ST T T ST & 2

1) T T IS wra ger Fith Rers FIN
T Y TR |

(2) ¥ qfter § %o B T it HY 94w verg

. Ea

@) %ﬁ%&%éﬁ%mgﬁﬁm
T fired |

(4) ¥ qfer § ST B TRT FIE W aR

4)

S WEH 8 9 | L
frafafaa st = uieq @t @&t foshea w1
Wﬁ%{q:

IRTHYT (A) :

FET FH 39 A, g R A SAfvrehie wepiaat o

wefrat TR i Reeit & w9 & S € wafe

ASFFA AT TOTEEHFAE |

SR (R) :

To forelt fardie wiwpfar it STdEmedl & STmam ™

T TS I ASH! 3 7T 1 UL HHT ST &,

% TR § T aftad wd § AR SuE

STTET TS ¢ |

(1) (A) 3R (R) AT TG E |

@ (&) 3 (R) AT T E T (R), () A T
TR |

&) 3 () 3 T & TG ®), @) H#
gt e 7 2 |
(A) T &, T (R) T & |

(3)

4)
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I &
28 As por dev Vypotsky, ___ playa a2 mwmmﬁ:magﬂ% i
significant role in the development of %{ﬁlﬂ P—
conceptual abilities among children.
(1) Tangible rewards (1) T TR
(2) Peer collaboration (2 wgwH! wEan
(3) Social isolation (3) HmTRIR HATS
(4) Standardized curriculum 4) mﬁm
24. :zcr:mg to Lev Vygotsky’s theory, inner =4 éa | 3 ST, ar‘rerﬂaﬁmag;
(1) is a way for children to communicate with (}) Sl F ﬁ‘l‘{ Th FIcUHE I % 919
an imaginary friend. T S T Teh AR |
(2) is a sign of cognitive immaturity. (2) TFHETHE AURTEAT H TAIF € |

(3) is a sign of developmental delay. 3) FFmmENFEFaTL |

(4) =4t & fou 19 9= o FEba FE &
T AR |

(4) is a way for children to regulate their own
thinking.

25. Four-year-old Aparna says that a button is
alive because it helps tie her shirt together.
According to Jean Piaget, her thinking is|25. T I I rqurl wedt § fF wh weq foer @

characterized by ; FiiTer g It I1E I e W sty & waE F
(1) Transductive reasoning 2 | S RS 3 e, Iu A At e
(2) Animistic thinking g
(3) Centration (1) ITETHATCH G
(4) Hypothetical-deductive thinking (2) St fia

. 3) FhEw

26. Which of the following is a typical @) TR N
characterstic of students having autism ?

(1) Buperior ability of differentiating fiction

repod 26, Frforiaa & & wefiaar arer e i
- L [CHLRIECECE TR
vanced socio-emotional reciprocity (1)  THEYAT ST qeq o T FT 1 A3 &
(3) Frequent repetitive ang recurring (2) I AT T TRl
behaviour f -
@) WA e 3 7| FAER

(4) Higher level of communication skills (4) HITE FTAT T Foof &




correct option :
Assertion (A):

To facilitate critical thinkin

g among |
teach“:rs shoul(.i expose them 3) eg{::: .
gituations and differing perspectives 5

Reason (R) N

Students ::fn and enrich their abilities to
think criti _ly and creatively ag they engage
in conversations across differences

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the
* correct explanation of (A),

(3) Both (A) and (R5 are true, but (R) is.not
the correct explanation of (A).

(4) (A)is true, but (R) is false.

The primary goal of learning should be :
(1) memorization of facts.

(2) becoming excellent at rote rehearsal.
(3) competing with peers.

(4) development of critical thinking.

Children learn more effectively if a concept
proceeds from :

(1) Generic to Specific.
(2) Abstract to Concrete.
(3) Complex to Simple.
(4) Rational to Empirical.

Variability in learning styles of students :

(1) should be valued and seen as a reflection

of human diversity-

should be ignored and
made to bring unifo
styles.

should not be taken into co
during teaching-learning process.

(2) attempts should be

rmity in Jearning

nsideration

(@)

drance

(4)

‘ (9)
7. Read the following statementg and choose the

should be seen as a parrier and hin

to teaching-learning proces®:

- — e |

29.

30.

P-VA

97, frafefas suat #y '
ki -y ufgw qun wdt fweq &

HPFYT (A) :
frenfoidt % sfrer et fia A gm
T % forv, Rt o fafiwr offefet
i fafvrT gfeeron & sramma #oar =nfea
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ot feremeff farferr wewet & ofter aa=fia & dem
B & I AUt i EATHE B9 #
?aﬁﬁawmaﬁaﬁvﬂ@%mhmm
|
ey
@)

(A) T (R) ST AT & |

(A) 3R (R) 3T &) & a1 (R), (A) T G
TETE |

@A) 3R ®) 3T T &, wG ®), @) H
e AT TET 2

A) TR, g R TEA R |

@)

(4)

i @ sftem Tl @e HE-aT

BT 11T ?

(1) a R @

@ 3 ATE FHA oh AT H IeFE T
(3) w3 g et
@) T i e
¥ ged Tt @n & q9 dEd ¥ AR @R
AT :

1) ameT d e i R e 7 |
(2) T & Y SR G 2 |
@) RS o E AT e
4) aﬁnﬂ%agﬂamﬁaﬂtaﬁr%l
e & e i Sfer § fafaar:

1) ﬁnﬁﬁﬁmmaﬁ'&aﬁtmﬁﬁw
3 wfefaie 3 &7 & @1 S =R
£ e £ o Ry A e A
AR T AT @ S R S

m~mm%ﬁmmﬁaﬁ

AT R
ot 3 amaﬂtmﬁw

(2)

(3)

@ e et SR

3 e B e T R
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PART 11 / W 11
MATHEMATICS / Tfor ot & 0 39 5 o TN

Directions : Answer the following questions by R R
selecting the correct/most appropriate option. mﬁmgﬁ(’ £ *at
31. Which of the following statements about|s. — fyraferfaa & & #N-8 Fv 1fova s fd & &

nature of mathematics are most appropriate ? # dut T

A. It helps the child to be creative. g ) aT-‘f # TrETaT FAT

B. It helps in nurturing the child’s A. ;T T I G

imagination.

C. Itisbased on deductive reasoning. B, ¥E a3 ) FouAT F1 Giftd F H wErEa

D. Itis always convergent. FEATE

o e c. g P frie (7 W smaa 2 |

M, ADuslt D. TEER T ARERI TR |

2) BandC

@ gt farerew 9T :

(3) AandC oAt

4 AandB 1) ABSRC

@ B3RC
To develop appreciation for mathematics 3) A3RC
among children, a teacher performs the 4) A3INRB

following activities in the class. Choose the
one which is mot effective to achieve her
objective.

(1) She always praises the student who

achieves highest marks in the class in the
term-end examination.

She shows to children the videos on
Indian mathematicians apnd  thejr
contributions.

(2)

(3) She gives mathematica] puzzles and

magic squares to be solved in the class.

(4) She establishes a mathematics corner in

her class where students can perform
various mathematical getivities.

T —

e e — il
SPACE FOR ROUGH WORK | 1o ®1d % e wiTe

32.

it Tftrlvr sTfefir Y R B0t % R,
s sreenfenT fifrRae T s

AT & | 3 @ T8 AT ST 30 I B
w0 & et 7t R

(1

(2)

(3)

(4)

&

e o T e ¥ ged it 3w T
AT/ ¢ |

98 Al dl VR TvEe R 9
arEFY < difea feardi 2|

& T 4 o grferat ok wmes ad ww
A % g et 7 |

IR HGA T F uw ity ST S

2 wret w faemeff fafvr= wftvdve nfafafmt
FHEHA S |
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g8, frmferRea ot f & e o adr et 22

which of the followi
33. sorrect ? WINg statements is not
(1) Errors of the student,
about their thought pr:cegsl: ¥ intmatio
9) Errors in math S
: Jearning. ematics are part of

(9) Errors in mathematics |
planning their lessons, i
(4) Errors of the students should be

overlooked as pointin :
: e
demotivate them. St

in

34, Which of the following statements is not

correct about assessment ?

(D ,b{orm-referencF-d assessment is useful in
diagnostic testing and remedial teaching.

(2) Criterion-referenced assessment is to
evaluate the mastery learning of the
students.

(38) Criterion-referenced assessment is useful
in diagnostic testing and remedial
teaching.

(4) Norm-referenced assessment tells us
where a student stands as compared to
other students in his/her performance.

Mathematical learning material :

A. helps teachers in demonstrating the
formulae.

B. helps students in self-learning. .

C. helps teachers in providing instructions.

D. develops learning environment in the
class.

Choose the correct option :

(1) CandD

(2) Aand B

(3) BandD

(4) BandC . Poli

According to the National Education rolcy

(NEP) 2020, -olympiads and competitions in

P-VA

(1) ﬁwﬁi;ﬁr}t 36 dry # ik
(i%ia:r‘g' ST 2t ¥ |
@) T At st fe St ¥ |
(3) TIoT # At frerapt At 9% 91 i e
mm%;’rm%@
(4) 19T i 31 A1y
|

34, oMo & IR # frafafaa # @ #9971 94

ITERI f3reror & 390 € |
(2) WHES-wahia seer it At st
# fAuraT 1 qeatET FEATE |
@) AFdS-HeRia e JeTfe e SR
C ST R d SwEri R |
@) HFE-Gehia ke & FardT § 6 O
¢ foenefi o9 wevl & o faenfR f
“  qoeTH e ge/Es ¢ |

35. nﬁwﬁ; ST T

A o e i free o ee A 2
B. @ aifrmm i farenfia i aeg T B |
¢ PRy REs A w g

D. e ¥ Afrm ardEeer & i e |

TEE HET 2 |
Gﬁﬁﬁﬂﬁ‘l:
(1) C3MWD
(2) AIRB
(3) B3ND
4 BIRC

36. TS R A (NEP) 2020 % TTAR, S9-51 H

fafir Rt & sifciftars ot wioanfiand

various subjects will be across the __ﬁ__'s:l'l'ﬁ |
country. (1 W«
(1) made easier (2) WSS
(2) strengthened (3) warcaTEd
(8) discouraged (4) HH,
— @ reduced  RRoUG
SPACE FOR ROUGH WORK / 1% ®rd & ferg e
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g7, ifirn.am, QaT-ge, qL-aHI, qgI-Be, A
gy

Concepts like more-less, long-short, far-near,
big-small, etc. are :

(1)
(2)

Vague terms for comparison.

Antonyms, not necessary for learning
mathematics.

Simply English language adjectives.
Important pre-number concepts.

According to the National Curriculum
Framework, 2005, classroom researches have
indicated a fairly systematic devaluation of
girls as incapable of mastering mathematics
even when they perform well in mathematics.

3)
4)

What is the most appropriate reason for this ?

(1) Poor performance of girls in mathematics

is due to the fear of mathematics ‘

prevalent in them.

(2) Mathematics,” by its nature, Lis a
male-dominated subject.

Gendered constructs of society haveled to
the belief that boys use more innovative
strategies for problem-solving and thus
have better conceptual understanding.

3

(4)

The mathematical abilities in boffs are
innate. ' -

Classroom researches have shown that most of
the students find mathematics more difficult
than the other subjects they study in the same
class. Which of the following aspects of the
nature of mathematics adds to this fear ?

(1) The vast knowledge base of mathematics

(2) The scope of multiple answers to a given
question in mathematics

(3) The scope of a number of different
methods to solve a problem in

mathematics

(4) The abstract nature of primary concepts

in mathematics

38.

39.

"f{

i
[

(1) W%mmmﬁl
@ frem = & s e @ F fo

ST TE € |
3) oo yreat & it e fardreor € 1
(@) et - () T €

T Tt wWET, 2005 % TAN, B
¥ S e e Ty A # FoF vt i i
3 “Frsiagar & T 7 AR ST HI6! AT
SEA BT & el 3 MU H ST T
FATE | |

THEhT HaTH ST HRI FTE ?

(1) i # SefRal o @ Yeni 3% v

F ufe yafeid W F RO ST |

afor, ot wepfd SR €, gE-yee faw

=

ga &t foir deef amond 39 w=ar

AR A Tt € o T awer-aHyE Y

el 94 FRfIRET Sy awa § 3k

%Hl%‘lQﬁaﬂ?ﬂ' SATYNOIcHF GHS Bl

| |

(4)  TTZHI | IO STHATE ST & |

et T 9 gwiia & o rfirenier forameff afor

) 3T T H S 37 fAwg 3 ven §, I oIty

e arga § | it i wafa w1 Frerforfaa &

H -4 €] 39 9 I SGTT € ?

(1) IO T TorRid IH-WER

(2) TG § U MU 9 * 3w I B A
STIHAT

(3) TITG A forel) TR o gm0 % fo
o AT-TAT TOTTTAT ohl SATYhaT

(4) g 4 yfie sEumoneht it ongd

(2)
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41.

o among the followi
ggd of mathematical :;ai rf:)as
() Aryabhatta
@) Bhaskara I
@) Ramanujan
(4) Mahavira

worked in the
my ?

vegetable seller wag i :
e Som poeialing spinach o
for which the vegetable ge) plmmk
#21(T6 + T6 + T 4 T3 fl':;l St(:lo
Which _of the following statements is/ar : =
regarding the mathematical skills used :) the
vegetable seller ? e
A. This mathematical skill is ambiguous
B. This skill is not wuseful to .
mathematical problems in class.
C. Such skills help in developing alternate

strategies for solving mathematical
problems.

Choose the correct option :
(1) Aand B

(2) Only A

(3) Only B

(4) Only C

solve

Which of the following depicts 2 situation
where children are constructing knowledge on
their own ?

(1) The best student in the class reads aloud
the multiplication tables and rest of the
students repeat after him/her.

(2) Children are reciting multiplication

tables in a chorus.

: : i like
3 i ven manipulatives 18
(3) Children are €l T e arrange 1 B

number grids, .
rectangular arrays and they are exploring

nEL A% | patterns using the
multiplication P ritten incomplete

(4) Teacher has
multiplication tables on blaCkl)g‘;;gsa%g
children are completing the

writing them o1 blackboard.

(13)

40

P-/A
. freferfiaa & @ fres niiefig ;.
FEhlbir it - & &
(1) Vg
(2) TR I

(4)

41. @aﬁﬁéﬁwmfeovﬁrﬁﬁmﬁam

o | G 350 T Treeh fera foreh ferg st
IR TAT A A T21 (T6+T6+T6+T 3)
£y | TSt A= IR U AN A A
AT e ¥ gey § Gefates § @
FAA/AFATTL/E?
A TE O e STEE B |
B. 72 T FaT § T T B
F Ruaners = g
c. W s TR gl F BA FA H
éaa%qaﬁ% 7 Ft fwhiE =9 § 9eEs
|
(1) ANB
A(2) A A
(3) HTAB

'(4) HEAC
42. ﬁw%ﬁﬂﬁﬁﬁq-mwft@ﬁm%mﬁﬁ%%

|

= I A e W T ?

(1 a1 7 FATH ST/ST TESH I T
ﬁqﬁtﬁf&ﬁ%aﬂtﬁﬁiﬁm‘iﬁm
oA AT RN

(@) ﬁ@ﬂmﬁﬂiﬁﬁm-ma?{l%ﬁl

(3) st F e S e %

FTIATERT

(4) Wﬁmmw{}mﬁﬁ@%aﬂt
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Which of the following is the most appropriate
way to help a primary school learner visualize

2
the equivalence between the fractions 3 and
o4

- 2
6

(1) Using Division method

(2) Using LCM (Least Common Multiple)

method

3) Using Fraction Discs

(4) Using Calculators

A teacher wuses role play method in
mathematics class. Her aim is :

(1) keeping children busy.
(2) projecting ideas.

(3) entertaining children.
(4) maintaining discipline.

Subitizing plays an important role in
developing the number sense. Which of the

following is an example of a student

demonstrating the skill of subitizing ?
(1) Student recognizes the number 6§ as 1

added to 5.

Student rolls a die and is able to say it is
four without actually eounting ’g.he dots,

2)

(3) Student recognizes the number 4 as the

number with 1 taken away from 5.

4) Btudent recognizes the number 5 as the

successor of 4.

43.

45.

Preafefern i & aerar grafees PrECT %
fordt %) firsr 2 oy 4 3 v g B
mmﬁm;ﬁmgﬁwmh
(1) Tasrer (wm) fafty s g
(2) @aw guTgaed fafty @ 3w

(3) = e 1 3uam
(4) FTHAU I 9T

o Rifdr it e & e @ (aferer Fae)

faftr &7 Swm et B | SEET R R
(1) a1 %l F&T & |

2 foamt % afedym

(3) =Hl T HANSI |

(4)  ATITE T T |

Her ay ol e ¥ S @i
T TR e frrelt @ | frafofae § @
#-mw%a‘rﬁmﬁﬁsm%m

T Y& FAT R 9

(1) foremeff s 6 it vee 5 7 1 ey H ey
TR |

(BTeH) i i 78 7o & wam 2 fr qe aR
gl

feremeff w4 Y vewE 5 F ¥ 1 Ry
FETH F@IR |

ﬁmﬁﬁwsﬁm«;%m%m
GRS

(2)

(3)

(4)
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|

(16)

priyadarshini_ _ mixed . 48kg of almonds
2500 g of raisin and 36 kg of cashews an(i
packed the mixture equally into three dozen
packets. What is the weight of each packet ?
(1) 6508

@ 2508

@) 3008

@) 5008

The side of & square is 5 cm. How many times

will the new area become, if the si
square is doubled ? e side of the

(1) 8times

(2) 2times

(3) 3times

(4) 4times

Which one of the following groups have all
3-dimensional shapes ?

(1) Cube, Cuboid, Semi-circle, Cone

(2) Cube, Cuboid, Circle, Cone

(3) Cube, Cuboid, Circle, Triangle

(4) Cube, Cuboid, Sphere, Cylinder

Sangeeta wants to buy a soap that costs T 10.
She has a five-rupee coin, 2 one-rupee coins
and 5 fifty-paise coins. How much more money
does she need to buy the soap ? :

(1) T250

(2) 050

3 T150 °

(4) ¥ 200

Select the group of fractions
order :

in an ascending

-~
P
S

A

A
T RSN R LR

N Qo | =

(2)

A
A

(3)

A
A

(4)

A
A

COf = BO )= DO

48.

47.

48.

49.

50.

P-UA
rrefi & 4.8 kg wmam, 2500 ¢ Revfm sk
ifmkﬂ firem I @ R

U A 7o e Ry | v e
HIAR TR ? Q-
(1) 660g %‘:_g’f \
® 3008 SO

g & .

4) 500g F@J3
Q’*a‘fﬁﬂmﬁpmﬂf‘ﬁaﬁiﬂgm
T & A, & T dewd B T A
ST ? o - |oc-
(1) 8T 2V
@ 2T
3) 3T
) 4T

ﬁn%@aﬂ{ﬁﬁ%ﬁ:aﬁmﬁﬁ-m
ATpfaar & ?

1) ¥, @\, gh, WF

(2) TH, ¥, 99, WP

(3 =, I, 91, B

@) =, T, T, SO

wir wh AR @l Swdt 8, e qed
710 2 | 3T% T TH U9 ¥q¢ w1 Rn

2@@%%&%%5%%‘%%%;
;ﬁwaﬁaﬁ%maﬂtﬁﬁmmﬁraﬁ
& B ? Lo
(1) ¥ 250 5
2) ¥ 050 L
(3) T150 (‘.3’
(4) T 200 -
T3 gu A § il % g B T Hife
(1) l<l<l ¥ ;8% e B
4 3 2
1 1.1
@ 3513
1 1 1
1 1.1
(4) §<Z<—2-
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(16)
What is the missing number in the pattern | 51. '-f@lfkqfl‘q ﬂ' gea w37
g‘iven below ? 1' 6, 15, “.‘__}_, 45, “,
1,6,15, ____, 45, 66, 91 (1) 36 '3
(1) 36 42) 28
(2) 28
@) 82 :3; gg
S, L 52. Fraferfam arfer % afe
Read the following table : et £ ga
Blood Group | Number of Students disdhii
A 9
A 9 B 6
B 6 ) 12 =
0 12 AB 3
AB 3 T 30
Total 30
ﬁatistheratioofthemostcommonand maﬁgwquﬂwﬁmﬁﬁm
rarest blood groups ? rﬂaﬁmw?? 3
1) 1:4 (D 1:4 \*
(2) 1:3 (2 1:3 } )
3) 4:1 /(3) 4:1
4) 3:1 4) 3:1
Which of the following statements s not|53  frafafgs § ¥ F-a1 U g 78 2 ?
true ? 5
(1) A kite becomes a rectangle if its opposite 3 Ush qam tl':ﬂ? B T Eﬁ’ @ =
angles are equal. U A9q 57 ' .
(2) A rectangle becomes a square if all its (2) aﬁ@mﬁaﬁﬁmmﬁ,a}
sides are equal. 98 TS 91 &9 T | .
(3) Arhombusbecomesasquareifa]lits 3) qﬁmw%mmm—é,?ﬁ
angles are equal. e i i HBQﬁa’fiﬁGﬂﬁT%l '
4) A parallelogram becomes a rectangle @ R & FEiw T ¥ T B =
its angles are equal. _ : ﬁaﬁasqmmwmb
Ammini is arranging 36 identical squares in ,36 - B b
the form of different rectangles. How many | 54. Cﬂlaﬁ_l 3 qefTn N -
different types of rectangles can’'she make Hrdi wa@%qfﬁ{m? | 98 ¥ Em
with these squares ? ¢ T3 TR AT 91 Tt B
(1) Eight 1 B
(2) Four (2) =X
(3) Five & (3) 9N
(4) Bix 4) B
Rubina started her journey by car at 55. &1 ¥ FR A 16:50 A I I
16:50 hours and finished at 21:15 hourg on the ?'ﬂ'{3¥ﬁﬁ:l 21:15 aﬁmaﬁ |qmtmq;ﬁ
same day. The time taken in completing the 3 forar S % )
Journey is - : : &6 "“ ¢
(1 ifh (1) 4% 35 fme MG
) 4 hours 35 minutes . Y O p Wy S
(2) 3 hours 25 minutes (2) 3% 25 fime AR o
(3) 4 hours 25 minutes @ 49 25fime b o
(4) 3 hours 35 minutes (4) 392 35fe ’TS' {D

—
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(17)
A whole number is added to 100 anq he o
pumber is subtracted from 109, e :un::‘
the two resulting numberg 80 obtained is
(1) 200
@ 0
8 50
(4) 100

#
56.

57. ‘One hundred lakh’ is also known as : o

(1) One billion
(2) Ten crore
" (8) One crore
(4) One million

58. Which of the fo]lowmg arrangements |
represents a descending order of numbers ?
(1) 10-5, 1-50, 1-055, 1-05, 1-005, 0-155
@) 1-05,1-005, 1-50, 1-055, 105, 0-155
@) 105, 1-05, 1-055, 1-50, 1-005, 0-155
(4) 10-5, 1-50, 1-05, 1-055, 1-005, 0-155

58.

59. Which of the following is not a factor of 3630 ? | 59,

P-VA

100 # T f won i ot & ol R
s 100 H 2 w1 4 9 & | %R T T

aq‘fmaﬁmmt,

1) 200~

@ 0

(3) 50

(4) 100

o @ T W frafaiea w9 3 ff S

2.

1) @ feferm ’

2 TWEHS '

(3) TS

@) Tl

Srfufigg § @ s Seea TEs H

el shn & Frefi w5 @ ?

1) 105, 1-50, 1-055, 1-05, 1-005, 0-155

@) 105, 1-005, 150, 1-055, 10-5, 0-155

3) 105, 1-05, 1-055, 1-50, 1-005, 0-155
(4) 10-5, 1-50, 1-05, 1-055, 1-005, 0-155

ﬁm%%aﬁﬁaﬁqmasaom@m

@ 11 TET R ?
@) m 1
2) 3
@) 5 3) 5
4) @ 9
..., to odd {7 :

®, The sum of 55+ 5-5+5-5 o 800 gy 5—55 =5+5-5 .. , % fowm e wd

number of terms is : :

(1) 15 (1) 15

@ o @ 0

@ -5 3 -5
e — SPACE FOR ROUGH WORK / T&% %1 & fore stre

oo "
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Directions : Answer the following questions by
seiecting the correct/most appropriate option.

A teacher wants to select synchronous
communication with her students for teaching
EVS. Which of the following will she choose ?

61.

(1) Phone calls, pre-recorded videos,
tele-conferencing
(2) E-mail, social media posts, phone calls

(3) Instant messaging,

tele-conferencing

blogs,

Video conferencing, online chat sessions,
phone calls

*(4)

62. If theme Travel
utilisation of a community resource in EVS,
which of the following will complete -
theme Food : ?

*(1) Agricultural farm
(2) Forest
(3) Shopkeeper

: Railway Station depicts

' (4) Farmer
|
| @ While teaching EVS, a teacher's
‘ statement/question, which encourages

students to elaborate on an answer either on

their own or from the response of their peers,
is :

(1) Probing

(2) Conditioning
3 Chaining

(4) Trial and error

(18)

PART 111 / s 111
ENVIRONMENTAL STUDIES / waferor steaa

o : Reafrfis st & zme 33 % 8
aftm fawey g7y

o1 U firfdrat {eftum firaor % forg :
et & | g fFrfrfias # @ Frlige
(1) BH Hia, f-fepree Aife
@ i, dverer i dre, B
(3) it g, s, Tefl-HIhr

@ s HEHEm, AR ¥ W, B
HiA

g2, afE o/ Im : Yord Ry vy § o aeriiE

Tt % ST gt 8, ar frefoad § @
R QT T — offe S ?
CR AL

. »

(1)
(2)
THEERT

foram

(3)
4)

{eftem firgor 3 i, T e 1 FTR/SH S
ferenfofit t ot o oo wirt At TR
¥ I forega et 36 o s T R ;
(1) el 59

st

() =

(2)

@) lreor AR

PO

g T
B ok Lt et




(19)

gs, Anita prepares a unit plan to teach the theme

f:::rlﬁ l::}g::no: the following will be the title
(1) Families : Migrating familieg

@ Types of Family : Nyclear and Joint

® Fami‘ly : Relationships Wwithin a Family
(4) Family : Relationships, Gender Roles,

Oceupations, as socio-cultural entity in
changing times

Ms. Sheetal likes to use stories and poems in
primary classes to explain various concepts of
EVS. The most appropriate logic for her using
stories and poems is to :

A. complete the EVS syllabus as well as

students have heard them before coming
to school.

B. encourage the students to write their own
poems and stories.

C. make the students aware of diversity in
language and culture.

interactive,

D. make the Ilessons more

enjoyable and interesting.
Choose the correct option :
(1) Band C
(2) Aand B
(3) B,Cand D
4) A,CandD

ons is a major
lasses Ito V?

out hands-on

Which of the following opti
objective of teaching EVS from ¢
(1) Acquiring skills to carry
activities independently

Preparing students for stud

at the middle level

Developing in-depth understa
he subject

basic concepts of t
Helping learners link classroo
to life outside the school

2) ying science

@) nding of the

rnin
@) m lea g

64.
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(1) gfEm . geg afEm
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(1) B3RC

2) ANB

(3) B,C3MWD

4) A,C3WD
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67.

An EVS teacher demonstrates an experiment
in class in which an egg sinks in a tumbler
with water, but floats upon adding salt to the
water. Which of the following is the most
appropriate explanation she can give to
students’ enquiry ?

(1) Allow each student to conclude on their

own by adding different items in water.

The egg floats due to density of water.

You will learn the correct reason in
higher classes.

Conduct and observe the experiment with
different amounts of salt.

2)
(3

(4)

Read the following statements and choose the
correct option :

Assertion (A) :

Learning of EVS needs to be oriented to
process skills relating to observation,
identification, classification, etc.

Reason (R) :

Through acquiring various process skills, the
learning outcomes of EVS learning are
expected to be achieved. :

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3)
not the correct explanation of (A).

(4) (A) is true, but (R) is false.

An EVS teacher should lay emphasis on
while preparing question paper for

summative assessment

(1) Length and objectives of the question

paper

Content coverage and objectives of the

question paper

Total marks and content coverage of the

question paper

Length and total marks of the question

paper

(2)

(3)

(4)

Both (A) and (R) are true, but (R) is|-

(20)
67.

69,
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70.

7l

72,

v f .

ch o. the following i n

outcome 1 EVS for studentg of g: a learning
ass 11 ?

§)) Voices opinion on
touch

@ Voices Opinion
on issues

observed/experien
ced
practices and relates to social

such i
e as discrimination in
p p of resources

) Observes rules in f
e .
outdoor games W local, indoor,

(4) Identifies directions of ClasstOm

You have to select EVS textbooks for your
students of classes III to V. Which of the

following criteria is most appropriate for this

purpose ?

(1) Pictures in the book should be big and
colourful.

(2) The language should be simple and
according to the mental level of students.

(3) The textbook should be llustrated and

appealing to students.

(4) The textbook should be child-oriented and
devoid of any stereotypes 0T derogatory
attitudes based on gender, caste, class

and religion.

Read the following statements and choose the

correct option *

Assertion (A) : :

At theoprimal'y level EVS has themes instead
of topics.

Reason (R) : s easy for

Theme-based EVS learning
ts as compare

teachers and stude?

(1) (A)js false, but ® s true.

d to topics.

(2) Both (A) and B

correct explanation of (

3) Both (a) and ®
not the correct €
(R) is fals®

are true

(4) (A)is true, but

TS

P-VA

70, T 111 % Rt 3 fory defrom i Pt
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73.

74.

75.

You want to encourage hands-on activities for
students of EVS. Which of the following is the

most appropriate activity ?
Map reading from a globe

Collecting coins of different countries

(§))]
(2)

(3) Developing an EVS kit from available
material
Drawing parts of different plants on a

chart

4

e

Formative assessment of EVS is

A. Assessment for learning
B. Assessment of learning
C. Assessment as learning

D. Assessment about learning
Choose the correct option :

(1) CandD

(2) AandB

(3) AandC

(4) BandC

Read the following statements and choose the
correct option :

Assertion (A) :

Field trips are an effective pedagogical
strategy in EVS.

Reason (R) :

Field trips promote memorisation of objects
events and places.

(1)
(2)

(A) is false, but (R) is true,

Both (A) and (R) are true and (R) is the
correct explanation of (A),

Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(A) is true, but (R) is false.

(3)

(4)

74.

75.

79, o fHw ¥ Renf F faT
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i Ty,
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SelTeE 7 & o syt freroremreta R E |
R (R) :

BT ST SRR, weAelY Sitt Tl Y araare
I TG A ¢ |

(1) (A) T ?, T (R) G 2 |

(2) (A) IR (R) T @& & 71 (R), (A) Y G
TS |

(A) 3R R) I W ¥, W R®), @A) F
et sy T R

(A)FE R, T (R) TTer & |
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76.

7.

78.

(23)

with respect to Gujarat, the locations of
Uttar Pradesh and Andhra Pradesh,
respectivel)ﬂ are !

(1) North-West; South-West

@ North-East; South-West

@) North-East; South-East

(4) North-West; South-East

Rama plays cricket with his friends every
evening. Which energy does he use to play
cricket 7

(1) Light energy

(2) Chemical energy

(3) Muscular energy

(4) Sound energy

78.
When we burn fuels we get :
(1) Only light energy
(2) Heat and light energy
(3) Mechanical and light energy
(4) Light and sound energy
79.

Which one of the following is ‘sticky rice’ and
is a common variety of rice in Assam ?

(1) Bora ﬁce
(2)
3)

(4)

Arborio rice

Bomba rice

Ponni rice

Select from the following the pest period of
the year for the people of Bihar to start a
bee-keeping programme :

(1) October to December

(2) February to April

(3) April to June

(4)  August to October

_f

76.

717.

80.

(@

. P-UA
W*ﬁﬁ,mmmmmﬁm,
Rufoat & .

(1) Iat-ufyem; fiorafyem

(2) w-qz:f;aféwr-wﬁ%m

3) IWN-YH; Ffeor-qd

(4) IR-afem; fior-qd

T T I Y 379 aredl & iy fRdhe werar
2 | o8 fiFpe QoM § RI-HY St 1 ST HLAT
27
1)
(2)

MEANECE ]

TarEfE St

(3) HIGURTET F el

@) et St

S B9 $59 ST & A1l YT ST /8 §
sheleT JehTl FHeit

FHT U ST HA

(3) Fifeh Ua WhTT Snell

(4) ERTYT US & Hell

frafafes & @ S omw & @e 9@ e
el H T g R ® S g & |@1e
foafed (e s € 2

(1) =T

(2) SRERE ==

(3) =T aEEd

LRiEIER]

fer TS & ot % g FefaRes § @
TYAFE- T FRH AT FA F a§
GEPEECIBACIELS '

(1) 37 § fegwr

(2) mﬁam

A

I W AR

(1)
(2)

(3)
(4)
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81.

-~

(24)

Match Column A and Column B :
Column A Column B

Cumin Appears like a nail

Saffron Originated in South
America

Chillies III. Yellow in colour
Clove IV. Small but fragrant
A-l, B-III, C-II, D-IV

A-IV, B-1II, C-II, D-I

A-III, B-IV, C-I, D-II

A-IV, B-1, C-111, D-II

L
IL.

A.
B.

C.
D.
(1
(2)
(3)
4)
The coastal State/Union Territory of Bay of
Bengal is :

(1) Odisha

(2) Karnataka

(3) Kerala

(4) Telangana

Consider the following statements about
forests : '

A. ‘Torang’ means forest in Kuduk language.

B. The Village Council (Panchayat) in
Jharkhand decides which family will get
how much land for farming, by lottery.

C. The Right to Forest Act, 2007 gives the
rights to people who have been living in
the forest for at least 15 years.

D. About three-fourth people in Mizoram are
linked to the forests,

The correct statements are -

(1) BandC

(2) AandC

(3) AandB

(4) AandD

What is the mass of an object with a density of

24§/mLandavolumeof6mL?

(1) 146g

(2) 142¢

) 143 g

(4) 144 g

8l.

82.

]

mAmmBmmﬁm
WY B
@Y A
A W o7 Y e REatr?
B. a;g-( II aﬁ"ﬂmﬁmﬁ
c. fird II. dfy Tt
D. @M IV. . BT 9t GIEET

A-I, B-II1, C-I1, D-IV
A-IV, B-II, C-II, D1
A-III, B-IV, C-1, D-1I
A-IV, B-1, C-III, D-II

6
2
3)
4)
Euicicakeis e
L :

(L
(2)
(3)
(4)

STt o o B fFferfaa wemt w Rmm Aifvie

A T T H ‘TRAT oHT HeTa ST ¢ |

B. YRGS ¥, AW qiNg (F=m) Aied % aream
ﬁﬂ%’ﬂﬂ?ﬂ‘cﬁ%ﬁimw?ﬁ?ﬁ%
fore femarlt syfiy forewft |

C. S AFR FE, 2007 3 @it A
aﬁawr(ﬁam%a}m-?r_am 15 997 &
A A ERE |

D. TS & e off-<hed
e ‘

ﬁﬁm%:

@ B3 C

@ A3fRc

(3 A3WB

A3 D

(4r
24 g/mL 99 3R 6 mL AT T
ST 9T 8T 9

(1) 146¢g

(2) 142¢g

(3) 143g

(4) 144 g

< STt & 3
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85.

87.

(26)

Consider the following statements about

snakes and identify the incorrect one from
the following :

(1) They swallow their foozi whole.
(2) Snakes have sharp teeth.
(83) Poisonous snakes have fangs.

(4) They chew up their prey.

Bronze is an alloy made by melting the|88.

following :

(1) Tin and copper

(2) Copper and zinc

(3) Aluminium and zinc

(4) Zinc and tin

Select the correct statements about elephants

from the following :
A A three-month-old baby elephant
generally weighs about 100 kg.
re than

B. An adult elephant can eat mo
200 kg of leaves and twigs in one day.

C. Elephants do not rest very much; they
sleep for only two to four hours in a day.

D. Elephants like to play with mud and
water.

(1) Band D

(2) Aand B

@) AandC

@) CandD

87.

P-I/A
giat & st & fr=fafee st w fem fifkg
aur Prafefiaa # & rer o ) Fafga g -
1) A AT e (R i g e s € 1
(2 @i da R E
(3) aaﬂﬁvﬁ%wﬁaﬁﬁ%éﬁ%u

@) AT RFR A FaER @ |

e (3 o firarg @ Rl Frefofea & @
o et ST AT € 2

1 fAsREw
(2) I AR fsieh
3) Uegfufam o i
@) fSiwaRfs

fraferfiaa 3 & i & I/ & vt w9

A o e % Eeft % S T IS AT
AT 100 feRcam ST R )

B. a=h wreft w 7 & 200 fFemm @
arfereps ufvrat off gnfeat  @TEEwaT 2 |

C. ot aga i AH T8 i §; 3 R A
A IR A L

D. it fieg i T § GoHT T6 6 § |

(1) B¥RD

2) A3RB

@) A3RC

(4) CIMD




P.yA (26) b=
88. Consider the following statements Aand B: |88, freafoRaa et A st B ot faem Hifsre :

Statement A : PEYT A ;
In Manali, houses are constructed with wood, HATeAT H, Gﬁ[ﬁfﬁ e LECG et & @l W e

slanting roofs and elevated on strong bamboo 3 38 T AL F WA I F |

pillars. HYqB :

Statement B : AT & sitar w5 et @ ot adh oft et 1
Manali receives a lot of rain and snowfall. e ey gﬁq .

Choose the correct option : ; 1 A m%’ q'?{f B Pr&%

(1) Ais incorrect, but B is correct @ A 3B aﬁru-é’r%,

(2) Both A and B are correct
(8) Both A and B are incorrect
(4) A is correct, but B is incorrect

3) AINBIA TS
4 AT, WIBIEAE_

89. f=feiRaa et =t ufgw qur ot faerey =1

89. Read the following statements and chooge the W?ﬁﬁlﬁ :
correct option :
Assertion (A) : TIHFE (A) : .
, On applying pressure, gas can be compressed CERSUIE €T, e it rar @ wdifed f ST
| easily. | qhare |
Reason (R) :

When we apply pressure to a gas, the FRU(R): -

intermolecular space between gaseous ST g fohdlt e OX gee e %, el ot &
particles decreases and it gets compressed. Eiic Wﬁ WE T B AET & R uE
| FrEHT | e g s 2 |

(2) Both (A) and (R) are true and (R) is the (D ()T R, T (R) W R |
correct explanation of (A). @ (A 114 %(R) AT wE E T (R), (o) T
TR |

(1) (A) is false, but (R) is true.

(3) Both (A) and (R) are true, but (R) is

not the correct explanation of (A). @) ;‘%W (R;?;ﬁ%?ﬂ g, T (R), (A) H

(4) (A) is true, but (R) is false. @ @ H_Eq,%, T (®) TR

90. Consider the following main functions of ;

pf:ft: . & 90. Uil % fraferfaa qew et w fam Hifvra .

A. To produce and store food A. TS 1 IeqET 3R WSTT AT

B. To give strength and support to the plant B. WY& wfs i HERT 3T

C. To transport water and minerals from C. WY % I wrl Y St A 5 ok @he
roots to other parts of plant T TYHTAT HTAT

The main function(s) of the stem is/are : T F/F T FEEE .

(1) OnlyBandC (1) *HaAB3IHRC

(2) OnlyB (2) FAAB

.. (3) Only A and B (3) acT A INB
' (4) A,BandC (4) A, B3RC
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Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 121 to 127)
by selecting the correct/most appropriate option.

Father would dress himself for court in a
brightly coloured dhoti, a matching white shirt
with an equally bright white turban and a neat
black coat. The paraphernalia to court would
include a cloth bundle containing court papers and
a basket containing hot coffee_with tumblers
and plates for tiffin given by my mother or
sisters-in-law,

The younger advocates of his time were great
admirers of my father and used to listen to him
with rapt attention whenever he rose to address
the court. His arguments were fo&eﬁx’d, coherent,
cogent, mgl_gglsive and conclusive. The arguments
would go on till about lunchtime and even the
English judge used to take down notes of his
points,

One client was particular that my father alone
should argue his case. On the day my mother died,
this case happened to be on the cause list. My
mother was alive when my father left for court at
10 a.m. that morning and he had told my brother
that he would return as soon as the case was over.
Unfortunately, she died within an hour of his
departure, :

With some difficulty, the news was conveyed
thmuﬂx an advocate in court. My father, however,
mad his arguments without showing any
emotions. Only after concluding the case did he

gel back home to the room where my mother’s

body lay and stood in stoic silence. _
121, (l’lathn was very particular about dressing :
)
::dl:. wanted to follow the proper dregs
(2) to impress the Jjudges.
(3) to impress his family.
(4) as he was rich eng

ugh to
clothes. buy good

‘V (88)

PART V
LANGUAGE II
ENGLISH

122. Which of

123.

124,

125,

the following statements are

true/false ? {
A Father avoided eating In the court

canteen.
B. He liked to drink hot tea during the day.

C. He carried case files wrapped in a cloth.
Choose the correct option :

(1) A and B are false, but C is true.

(2) A and B are true, but C is false.

(3) ' B and C are true, but A is false.

(4) C and A are true, but B is false.

Which of the following statements is wrong ?

(1) He was the preferred lawyer of some

clients.

(2) Young advocates wanted to learn from
him.

(3) Only a few were jealous of his popularity.

(4) He argued his cases logically and
persuasively.

Which of the following statements are
true/false ?

A Even the judges recognised his legal
acumen,

B. He preferred his legal obligations to
family obligations.

Choose the correct option :

(1) Both A and B are false.

(2) Aistrue and B is false.

(3) Bis true and A is false.

(4) Both A and B are true,

‘His arguments

.............

were forceful, coherent,

(1) calculating
(2) reasonable
(3) crazy

(4) witless




............. a l?undle containing court papers.’
The underlined word is a/an :

(1) Adverb
(2) Noun

(3) Verb

(4) Adjective

-------

127. ‘One client was particular that my father 4

The underlined expression is a/an
clause.

(1) Adverb
(2) Principal
(3) Noun

(4) Adjective

Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 128 to 135)
by selecting the correct/most appropriate option.
Dorothy lived in the midst of the great Kansas
prairies (grasslands) with Uncle Henry, who was a
farmer, and Aunt Em, who was the Tarmer’s wife.
Their house was small, for the lumber to build it
had to be carried by wagon from many miles afar.
There were four walls, a floor and a roof, which
made one room; and this room contained a rusty
looking cooking stove, a cupboard for the dishes, a
table, three or four chairs, and the beds.

Uncle Henry and Aunt Em had a big bed in
one corner, and Doroft_}ly a little bed in another
corner. There was no garret at all, and no cellar —
except a small hole dug in the ground, called a
cyclone cellar, where the family could go in case
one of those great whirlwinds arose, mighty

enough to crush any pilding in its path. It was

reached by a trapdoor in the middle of the floor,

from which a ladder led down into the small, dark

hole.

When Dorothy stood in the doorway am1i,'
looked around, she could see nothing put the }il:i:e
gray prairie on every side. Not a tree nor aeached
broke the broad sweep of flat col_mtr;g.r that Tx:h asgec
to the edge of the sky in all directions

: qy mMAass,
had baked the plovghed 1288 2 Even the

with little cracks running thmughad
grass was not green, for the sun

. the same Bray
tops of long blades until ;hfi gil;z the house had

colour to be seen everywners, d the paint and
been painted, but the sun blistere the house Was

the rains washed it awaY» ’?nd Iig:
as dull and gray as everything €5

(39) P-V/A

128. Which one of the following statements is true ?
(1) Unele Henry’s house was freshly painted.
(2) Dorothy’s parents were rich farmers.
(3) Uncle Henry had a big farm.
(4) She lived in a small and shabby house.
129. Which one of the following statements is true ?
(1) There was no tall tree near the house.
(2) The house was a comfortable brick house.
(3) It was made of wood, as wood was easily
available.
(4) Dorothy slept in a big wooden bed.

180. Study the following statements :

A In the vast grassland, Uncle Henry’s was
the only house. '

B. There was sun-baked gray grass all
around. -

C. In the middle of the prairies was a green
field ploughed by Uncle Henry.

Choose the correct option :

(1) A and B are wrong, but C is right.

(2) “A and B are right, but C is wrong.

(3) B and C are right, but A is wrong.

(4) A and C are right, but B is wrong.

131. Study the following statements :

A. Uncle Henry had a tractor trolley in
which wood was carried.

B. The wood for the house was carried from .
far away.

Choose the correct option :

(1) Both A and B are wrong.

(2) Aisright and B is wrong.

(3) Bisright and A is wrong.
(4) Both A and B are right.
132. Which of the following statements are true (™

and which ones are false (F) ?

A. The fear of a cyclone loomed large on the
family.

B. They had built a shelter for protection
against wind and rain.

C. Around the house there was nothing to
reduce the impact of a storm.

D. Their drawing room had only three or
four chairs.

Choose the correct option :

(1) TFTF

(20 FTFT

(3 TTTF

4 FFTT



134.

135.

Directions Answer the
selecting the correct/mos

136.

137.

------------

with Uncl
The underlined Wi

(1) Adverb
(2) Principal
(3) Noun

(4) Adjective

‘a cupboard for the dishes’
The underlineq word is a/an
(1) Article

(2) Conjunction

(3) Preposition

(4) Adverb

e Henry, who was a farmer,’
) ———
ord is a/an clause.

There was no garret at all,

—

The underlineq word nearly means the same
asa 2

(1) pantry
(2) loft

(3) study
(4) toilet

following questions by
t appropriate option.
While Planning lessons for young learners, the
teacher decided to focus on the Tota] Physica]
Response (TPR) method. Which one of the
following should be used to include TPR in the
lesson ?

(1) Must keep activities aside

and instead
ask questiong and

motivate them to
(2)

(3) Choose activities that h

elp them stay in
their seats and work in

pairs or groups.
Must add some listening activity in clagg,

(4)

(3) Inductive
(4) Communicative

(40)

138.

139.

140.

141.

142,

Im@beb o

ing to give a free Writing
Class V. Which one of the
e focused on most by the

A teacher is plann
task to learners in
following should b
teacher ?

(1) The handwriting of the learner
(2) Accuracy of the content

(3) Fluency of the content

(4) Both fluency and accuracy of the content

Top-down means ‘attend
meaning’. What doeg ‘bottom-
(1) Focus on asking gho
questions
Focus on the
ideas

Focus on Pre-reading

Focus on the words
text

to the overy
up’ mean ?
rt answer type

(2) gist of the text and abstract

(3)

4) and phrases of the

Which among these is the primary
responsibility of the language teacher ?

(1) Instructing the learners
(2)

(3) Selecting suitable content for teaching
(4) Grouping learners into different clagses
A young child picks up a beo

side up, and turns
demonstrate -

(1)
(2)
(3)
(4)

k, holds it right
the pages. These activities

emergent solution skillg
emergent literacy skills
émergent curriculum
émergent propertieg
Read the followin,

correct option :
Assertion (A) :

g statements ang choose the

anguage acquisition.
(A) is false, but (R) is true.

Both (A) and (R) are true
correct explanation of (A).
Both (A) and (R) are
not the correct explanat

(A) is true, but (R) is falg

and (R) is the

true, but (R) is
ion of (4),
e,




143.

144.

145.

l“l

A way to teach reading that emphasises
understanding the meaning of words from the
context in which they appear is :

(1) Structural approach’

(2) Communicative approach

(3) Bottom-up approach

(4) Whole language approach

The ability to think and talk about language
is:

(1) Metalinguistic ability
(2) Phonological awareness
(3) Proficiency

(4) Emergent literacy

A mother asked the teacher of Class II how it
was possible for her child to sometimes say
things that she had never heard a.ny adults or
siblings say. How is it possible ?

Which one of the following is the apt answer to
this question ? |
(1) As per the constructivist approa
children can invent new languages.
Children learn language only by
imitating adults.

The human brain is innately wired to

learn language.
A child learns language when -we
reinforce the development of the child’s

language.
A technique used to facilitate early literacy,
which involves an adult and a child lookinF at
a book together while the adult asks questions
and encourages a dialogue, followed by
switching roles so that the child asks
questions to the adult, is called :
(1) Storytelling
(2) Model reading
(8) Shared reading
(4) Dialogic reading

(2)

3

4)

147. A teacher can develop the listening skills of

148.

149.

150.

language learners by :

() making the learners listen to everything

they hear passively.

speaking continuously to learners both
within the classroom and outside.
focusing only on listening skills without
associating them with other language
skills.

creating opportunities for learners to
listen to a variety of language sources
and people and engaging in other
listening activities.

(2

(3)

(4)

Read the following statements and choose the
correct option :

Assertion (A) :

Accuracy in language is most important at the
primary level.

Reason (R) :

Grammar is an integral part of the primary
curriculum.

(1) (A)is false, but (R) is true.

(2)° Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is true, but (R) is false.

3

(4)

Theoretical positions and beliefs about the

nature of language, the nature of language
learning, and the applicability of both to

pedagogical settings is :
(1) Technique

(2) Syllabus

(3) Content

(4) Approach

Formative evaluation is :

(1) not subjected to change.

(2) what is happening
teaching-learning process.
related to ongoing development and
improvement. «

carried out at a pre-specified or particular
stage in the course.

in the
(3)

(4)





